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QUESTION 1

You are building a workflow and specifying conditional routing. There are multiple conditions that must be met.
How do you do this?

A. Set up a Form with a drop-down menu.

B. Set up an Oroperator.

C. Set up an And operator.

D. Set up a Data Picker.

Correct Answer: A

QUESTION 2

You are designing a Business Process, and want to enable users to make reservations. What action do you take to
make this happen?

A. Enable Mobile/Handheld.

B. Enable Map View.

C. EnableCalendar.

D. Allow adding users or Groups in user mode.

Correct Answer: C

QUESTION 3

You decide to add a second Detail Form to a Business Process after it has been published to production. After doing so,
you must also change

A. the Business Process properties
B. the workflow (s)

C. the Upper Form(s)

D. item logs

Correct Answer: A

QUESTION 4

As a Sponsoring Company, you want to remove a Partner Companydue to its poor performance. When the Partner
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Company is removed, you also want to ensure that the Partner Company users are inactivated.
What happens if you remove a Partner Company from a Sponsoring Company?

A. The Partner Company can never be re-addedto the Sponsoring Company.

B. The Partner Company users are inactivated.

C. The Partner Company users continue to access the Sponsoring Company.

D. All users remain active.

Correct Answer: B

QUESTION 5

Non-assigneesusers who can edit a specific step in a Business Process when it is in draft mode are called
A. administrators

B. assignees

C. record editors

D. step editors

Correct Answer: D

QUESTION 6

Which two actions occur when a Shell is transitioned to Active status? (Choose two.)
A. Workflows restart.

B. Accepted Business Processes return to action Forms.

C. Accepted Business Process Forms become View Forms.

D. Scheduled jobs are cancelled.

Correct Answer: AD

QUESTION 7

Identify two use cases for non-workflow Single Record Business Processes (Choose two.)
A. auto-population sources for Business Processes

B. maintenance of information repeatedly used in projects

C. filters to reduce choices in drop-down menus
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D. permissions management for users in Groups

Correct Answer: BC

QUESTION 8

The Business Process type that consists of only an Upper Form is
A. Simple type

B. Document type

C. Text type

D. Line item type

Correct Answer: D

QUESTION 9

A Data Picker

A. contains pre-defined and company-defined Data Definitions

B. represents fields that define the structure of WBS codes

C. facilitates selection of records or instancesfrom filtered lists

D. represents codes that are used with cost-related Business Processes

Correct Answer: C

QUESTION 10

You are importing a Business Process setup into a Shell template. You receive an error message. Identify two reasons
that might have led to thistransaction failure (Choose two.)

A. The security settings in the Company Workspace prohibit import/copy functions.
B. You cannot import the Business Process into a Shell.

C. The Business Process setup that you are importing is not active.

D. The Shells are not of the same type.

Correct Answer: AD

QUESTION 11
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You have received a help desk call from a user that cannot log into Unifier. Your help desk representative knows that
this user has used Unifier in the past.

What is the cause of this problem?

A. The user does not have a valid email address.

B. The user has not been assigned to any Business Processes.
C. The user is currently On Hold.

D. The user was not added to theCompany.

Correct Answer: C

QUESTION 12

You create a Form that has multiple required fields. You create a Default Value for each required field. As you review
the data, you think it is strange that there are very few selections for those fields other than the default entry.

Why do you think there might be a problem with these required fields?

A. The drop-down list values were incorrectly entered when the Data Element wasconfigured.

B. Users do not understand the specific values that were created in the drop-down lists.

C. Users can bypass making a selection for the required fields because the Default Value auto-populates.
D. Fields were not configured to be requiredbefore the publication of the Business Process or Form.

Correct Answer: A

QUESTION 13

Identify twotrue statements about Shell templates (Choose two.)

A. They require user-based permissions, rather than Group-based administration.
B. You cannot add users to templates to minimize additional administration.

C. You cannot share Shell templates across different Shell types.

D. They are used to create and update Shells of specific Shell types.

Correct Answer: AD

QUESTION 14
Identify tworecommended best practices related to Schedule Sheet templates. (Choose two.)

A. Add standard activities.
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B. Add dates.

C. Add standard columns.
D. Add standard folders.
E. Add users.

Correct Answer: CE

QUESTION 15

When can an assignee decline a task if an option is enabled for a step?

A. if there are multiple assignees on the step and the others have all already declined

B. if the assignee is the only assignee on the step and has the ability to add assignees on the step
C. if the assignee is the only assignee on the step andhas the ability to add CC

D. if there are multiple assignees on the step who are yet to accept/decline the task

Correct Answer: D
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